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#4continued ... )
Ex continued ...
-

roll two 6-sided dice

* = sum of the dice

P(I = A)
1
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Then
,



-(E) = t . P(A = A)
t = 2

= (2)(35) + (3)(56) + (4)(5)
+ (5)(=) + (6)(55) + (7)(5)
+ (8)(56) + 191(6) + (10)(6)
+ (1)(55) + (12)(55)

= 7



#> Suppose you flip a coin

3 times .

For every head you

lose $1 .
For every tuil you

win $2
.

Let & be the amount won/lost

Draw & and p(t)
= P(* = A)

Calculate (*]
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=
z[x] = ( -3)(5) + (0)(8)

+ (3)(8) + (6)(5)

=

+ 6
= 8 = 1.

This is saying that if you played
the game a lot of times on average

you'd win $1 .SU per play .



So say you played the game

1 million times then you'd

expect to
win around

(1
,
000
, 000) . ($1 · 30)

- $ 1 , 500 , 000 .

-ne-

⑯ Let E be an event .

We define

⑱= !=1 - P(E)

⑱=!-
-casino uses this



=> Suppose we roll a 4-sided

die .

Let I be the event

that we roll a 1 .

So
,
P(E) = I'

undstorz= e , = Y = 57
odds against 7

=I = Y = 37 ite



-odds to probabilitiesEmeert
-

odds for Ei ->t

⑯against > - 4(E) = Id
C : d
↳
-

Ex :

Suppose the odds for E
-

are 3 : 5 .

Then P(E)= =
-

Ex : Suppose the odds against
- 1 = 1
are 4 : 6

. Then P(E)= 4 + 6 10

-



Let's learn

about Roulette .








